[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

-

T T T

1.0

Ratio

102 107 1 10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__CMSSW_orig
Efficiend —— pom_v0001_R000000001__Global__mkFitALLCHA__RECO

~ 0.05 T X T
B 0t

o : : : : :
>0.04F------ LR SRERCREE R e
oy E : : : : :
U SRR SUIIES YIRS B
o = . H H N
£ 0,08+ oo
] o : : : :
e pri :
SIS RN S S N S
oot —pr b L
0.01F - GRS L
I 1 I n A -
SR U0 T L SUT OO0 DY
£ T

S O 11480111
0950 =10 0 10 2030

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03

0.02F
0.018
iy
nH. | | [ | |
o +Wf : T
o [l 1 :
1:’- - 2 ] o L T b e o o i e
B =5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


